
1. −8 + 6 − 12 + 5를 계산하면?

① 9 ② 7 ③ −7 ④ −9 ⑤ −2

−8 + 6 − 12 + 5

= (−8) + (+6) + (−12) + (+5)

= (−20) + (+11)

= −9

해설



2. 다음 중 옳지 않은 것은?

① −32 = −9 ② −(−3)2 = −9 ③ (−3)2 = 9

④ −(−1)3 = +1 ⑤ −(−2)2 = +4

⑤ −(−2)2 = −4

해설



3. 다음 중 계산 결과가 가장 큰 것은?

① (+4) + (+5) ② (−6) + (−1) ③ (+3) + (+5)

④ (−7) + (−5) ⑤ (+3) + (+7)

① (+4) + (+5) = +9

② (−6) + (−1) = −7
③ (+3) + (+5) = +8

④ (−7) + (−5) = −12
⑤ (+3) + (+7) = +10

해설



4.
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할 때, a + b 의 값은?

① −2 ② −1 ③ 1 ④ 2 ⑤ 3
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∴ a + b =

Å
−11

6

ã
+

Å
−1
6

ã
= −12

6
= −2

해설


